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PUBLIC ADMINISTRATION
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

questions are compulsory.

The major concerns of Public

Administration discipline is/are

(i)  Absorption of the principles of
democracy.

(i)  Policy sensitivity

(iii) Innovative, proactive and risk
taking administration

(iv) Coping capacity of
administration and government
to face modern challenges.

Select the correct answer by using

the codes given below :

Codes :
(A) (ii) only
(B) (i), (i), (iii)

(C) (i), (iii), (iv)

(D) (), (i), (iii), (iv)

Frederick  Taylor  noticed a

phenomenon of workers, purposely

operating below their capacity and

called it

(A) Skiving

(B) Lack of standards of work

(C) Unscientific decision making

(D) Failure of management to
design jobs

A formal organization

(i)  grows and expands

(it)  is deliberately impersonal

(iii) forces the members of the group
to observe the common rules

(iv) relationship created by the
organization structure are to be
honoured by everyone.

Select the correct answer by using

the codes given below :

Codes :

(A) (i), (iii) and (iv)

(B) (i), (i) and (iv)

(C) (i), (i) and (iii)

(D) (i), (iii) and (iv)

Paper-I1

4.

Arrange Elton Mayo’s experiments

in a chronological sequence. Select

the correct answer from the codes

given below :

(i)  First Inquiry

(i)  Human Attitudes and
Sentiments

(iii) The Great Illumination

(iv) Absenteeism in the Industries

(v)  Social organisation

Codes :

(A) (i), (iv), (v), (iii) and (ii)

(B) (i), (iii), (iv), (ii) and (v)

(C) (i), (iib), (i), (v) and (iv)

(D) (), (i), (iii), (iv) and (v)

Which of the following statements
about Simon’s view of rationality is
correct ?

(A) Rationality is uni-dimensional.

(B) Simon propounds the concept
of total rationality.

(C) Every decision maker has
unlimited knowledge about
alternatives.

(D) Rationality is limited by the
skills, wvalues, purpose and
knowledge levels of the
decision maker.

Which one of the following concept

is not developed by Peter Drucker ?

(A) Generic Management

(B) The concept of Transactional
Influence

(C) Management by Objectives

(D) Knowledge Worker

Who among the following rejected
the principle of unity of command ?
(A) Elton Mayo

(B) F.W. Taylor

(C) Henry Fayol

(D) Presthus
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W =0 voAT | w= (50) Sg-fashed™ IeE § | s IR S ar (2) 3T € | gt I e ¥ |

1.  AEWETEE faug @ ygHE WReR
frafafeq d @ e a e ?
(i) e o TagTT 1 ST |
(i) =i Fog=eiear 9 |
(iii) TETIREeT®, SR, SfEH 3aH
el TR |

(iv) 3TgMH® T T FqHEAT F A
U HIY T U JAT THR

T AT |
frfafad e &1 ST FXd gu W
ST T T4 HIT ;
FT
(A)  Fa (i)
(B) (i), (i), (iii)
(C) (i), (iii), (iv)
(B) (), (i), (iii), (iv)

2. ThER® oR A @1 T i STl
AT AT ¥ HH FE HA & | 3T
UREEAT i 3=+ T Hel ¢ 2
(A) it
(B) M HHHI FHT 3G
(C) Tamiveh Fora-fafoT
(D) Ve FRT HE  fFEuer @

foerar

3. U iU S
(i) ¥gfg R famreaat |
(i) glaea T F i gl € |
(iii) 99 & T h FEgEEg I

¥ ST & foTT STeg el € |
(iv) TS GTEAT A 99 i o Us
% FRT AT Tl ST € |
frfefaa Fi 1 STER wA g T
ST 1 TI BT ;
FT
(A) (@), (iii) @ (iv)
(B) (i), (ii) 7= (iv)
(C) (i), (i) e (iii)
(D) (i), (iii) 7 (iv)
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4.

Teed WA % VAN o HOmTHH H
Fafer e | H9 KT T g § 9
Tl IR T :

(i) TR

(i) 7T wfeeyew we e

(iii) 13 U< Tgmmee

(iv) UsHfesH & ¥ dee

(V) T AT

% !

(A) (i), (iv), (v), (iii) 7= (ii)

(B) (i), (iii), (iv), (ii) 7= (v)

(C) (), (iii), (i), (v) 7= (iv)

(D) (i), (i), (iii), (iv) T (v)

dqfeheht & Hafyd Wemd & fge) &

uRYe B fEfaiEd § | i e

T § 2

(A) Tichehdl Teh- STl Bl € |

(B) WEEH F  EYUl  dlchehal Wl
o1 ol Ufqaie fmar & |

(C) vad® fuledl & U Sitd
faehea gt € |

(D) dieheher, foigeei & i,
qooii, 329F T T H TR 9
R gt & |

frefeifaa § 9 f6d Sauron & diex
TR R forerfad =&t femar mar € 2

(A) SR BesTHE

(B) ¥ HHw 3% IR Sheud
(C) HSTHE a1 3esiforea

(D) FferST TR
e & 9 3TeeT 6 UehdT & Mg

%! foha SR T € 2
(A) U 5l

(B) UF. T=Y, oW
(C) & wae

(D) vEeg
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10.

11.

12.

Which of the following is not a

characteristic of Job-centric

supervisor in the scheme of Rensis

Likert ?

(A) He exerts heavy pressure on
worker for work.

(B) He shows confidence in
subordinates.

(C) He allows little freedom to
subordinates.

(D) He helps subordinates when
mistakes occur.

Which one is not among the four
systems of management or leadership
styles given by Rensis Likert ?

(A) Exploitative authoritative

(B) Benevolent authoritative

(C) Constructive

(D) Participative (Democratic)

Which theory considers personality,
motives, values and skills as
attributes of leadership ?

(A) Trait theory

(B) Behavioural theory

(C) Situational theory

(D) Contingency model

Yehezkel Dror refers ‘Meta Policy’ as

(A) Policy on policy making
system

(B) Master policy

(C) Super policy

(D) Integrated policy

Which of the following is the part of

executive office of the U.S. President ?

(A) White House staff and office of
Management and budget.

(B) White House staff and office of
Personnel Management

(C) Office of Management and
Budget and Federal Labour
Relation Authority

(D) Office of Management and
Budget and Office of Personnel
Management

Paper-I1

13.

14.

15.

Who said the following words about
comparative Public Administration
“the theory of public administration
applied to diverse cultures and
national settings and the body of
factual data by which it can be
examined ?”

(A) Robert A. Dahal

(B) Ferral Heady and S.L. Stokes
(C) William J. Siffin

(D) Dwight Waldo

Match List — I with List — Il and
select the correct answer by using the
codes given below :

List— I List—11
(Authors) (Comments)
a. J.S.Mill i. Continental
nuisance
b. Thomas ii. Professional
Carlyle Governors of
government
c. Dewey iii. Trained
incapacity
d. Vablan iv. Occupational
Psychosis
Codes :
a b C d
(A) i i iv i
(B) iii i [ 1\
(C) ii i iii iv
(D) i iv ii iii
There are many gaps in the

organisation and operation of
development programmes which are :
(i) Inadequate administrative

planning

(if)  Traditional administrative
practices

(iii) Procedural deficiencies

(iv) Lack of consciousness of

achieving goals
Select the correct answer by using
the codes given below :
(A) (i), (i1) and (iii)
(B) (ii), (iii) and (iv)
(C) (i), (iii) and (iv)
(D) (i), (ii), (iii) and (iv)
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10.

11.

12.

g feee &t g | fefafea & 9

HIT G NIARTIT HE-higd TIAeTH

MICTRIOT T&T & ?

(A) T FF B HH a W FE B
F % [T IRI TaTe ST € |

(B) @& 3Teier siaar Uid favard
eI FRAT T |

(C) o& ST&F=Al i Tcaed T
ST AT & |

(D) Tt B UR 8 ST hiHat i
I HLAT & |

fr=fefea & @ & a1 g o g™
fU T e sty g Vel ® AR
yonferdl § ¥ U el ¢ ?

(A) ITYOTCH STTEHRE

(B) Tdsrl sy

(C) ToATHH

(D) TETM (GHehirIeh)

R, VASH, God aol Bive &
TARTOT T el T i AT TGS R
HT & 2

(A) TROER g

(B) =ARRER! faaT

(C) uRferfa fagm=

(D) TR fFaT

(A) =ifq FEToT SZeREr W Hi|
(B) WM Hifa
(C) um Hifa
(D) U Hfa

f=ifrd & & = @1 i % gt

% BB HrETT T T § 2

(A) =Tz TR W T0S 3Ry 3%
TS TF a5

(B) =T< TRW WH UH JMRE 3HH
TR BT

(C) SiifFE 3% TS Ud aSIC UUS
thetet oer et siieiiey

(D) ST 3HTF TS TS a5 0SS
3R 37 A HASTHE
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13.

14.

15.

QoI H-IE & aR H @
S g1 ST qlieToT foham ST \eRdT &
- H YT ol TR S g ?

(A) T T TwA

(B) R vEl T TH.UA, T

(C) faferam . faftr=

(D) =amEe AwEl

gar — | B gt - 1l ¥ gafad sise
7o &3 T Fe ¥ ¥ el W AT
-1 = - 1
(ferem)
3 TTa-HTE
iii. JUg IRuTEet
iv. 3fipUvHeT
RIERAIRE]

a b c d
(A) i i iv iii
(B) iii ii i iv
(C) ii i iii iv
(D) i iv ii iii

forepm 1At & e 3R HETEET °
TgI A HHAT S AT

() ot semafe feem

(i) URERe Yemae Uishand

(iii) vispaTcHs @it

(iv) o8 Ui o i d=T o 31T
1 e & e ¥ el W H A
HifTT

ETE

(A) (i), (ii) T (iii)

(B) (i), (iii) T (iv)

() (i), (iii) T (iv)

(D) (i), (ii), (iii) T (iv)
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16.

17.

18.

19.

Assertion (A) : Bureaucracy seems
to be an essential ingredient of
modern civilization.

Reason (R) : Bureaucracies are
found in all large and complex
organizations.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

“Development  administration is
concerned with maximising
innovation for development”. Who
gave this definition ?

(A) John Montgomery

(B) Edward Weidner

(C) F.W.Riggs

(D) Han Been Lee

“Improvement in the effectiveness of
development administration depends
on the quality and training of public
servants who man it and on a social
and political environment which
liberates their energies.” Who of the
following made this statement ?

(A) J.N. Khosla

(B) Merle Fainsod

(C) Irving Swerdlow

(D) F.W.Riggs

Assertion (A): The community
development programme was
launched to secure total
development of material and
human resources of rural areas.

Reason (R) : It was realised while
implementing the programme
that social change 1Is not
possible unless the efforts are
people centred and
Involvement of people in their
development is not ensured.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-I1

20.

21.

22.

23.

Which of the following is/are the roles

of Gram Sabha in the areas covered

under Panchayats Extension to the

Scheduled Areas as PESA Act, 1996

(i) Gram Sabha has the power to
prevent alienation of land in the
scheduled areas.

(i) Gram sabha has the ownership
of minor forest produce.

(ili) Recommendation of Gram
Sabha is required for granting
licence or mining lease for any
minerals in the scheduled areas.

Select the correct answer by using

the codes given below :

Codes :

(A) (i) only

(B) (i) and (ii)

(C) (ii) and (iii)

(D) (i), (i) and (iii)

According to 2" ARC, task of

delimitation and reservation of

constituencies for local governments
should be entrusted to

(A) National Election Commission

(B) State Election Commission

(C) Union Parliament

(D) State Legislature

The planning departments of the
Development Authorities should be

merged with  District  Planning
Committee and Metropolitan
Planning Committees. This

recommendation was made by

(A) Hanumantha Rao Committee

(B) Dantewala Committee

(C) K. Santhanum Committee

(D) 2" Administrative Reforms
Commission

The principle of subsidiarity is related to

(A) Assigning more  financial
powers from centre to states.

(B) Devolution of functions to
Panchayats to make them
function as an institution of self
government.

(C) Delegation of authority within
an organisation

(D) Delegation of authority outside
the organisation
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16.

17.

18.

19.

afrpem (A) : SER a7 STy
TR ol AEE 3 Tl Bl & |

HROT (R) : T Fe5 3R Sifect Tet §
R o T & & |

FT:

(A) (A) &R (R) I W&l € @ (R),
(A) T T& AR E |

(B) (A) 3R (R) I W & e
(R), (A) =i T&t =ame =& € |

(C) (A)TH T, Al (R) A T |

(D) (A) ¥ &, oifeF (R) T € |

“TIhTE YR T THR [T & [T
TIER % AUHIHET § 2 - TE
R fRE & & 2

(A) ST Fieme

(B) uewe fagw

(C) UH s=g. ™

(D) &&=

“fIeRT TRTEA T UMTERietT H gt
TAH XA oAl Hal H TUEl Te
TTYTRTOT AT TN SoTT ol SEH-ToRT B
e FHIST e ST aTdTaRel 0
R E " 78 w2 e § 2
(A) SITH. @Een  (B) el wEE
(C) Waa @reatt (D) h sy, [7g
aAfiepem (A) . OETEs fawm @&
Yo W gE Hodifde e
OFe GEEAT % Thel [aeT i
3T e o ToIw Tepar 1T |
%Rt (R) : 39 PEHH P HRTII
o A W I8 IIvE R T R
TG i SHbiGdar el g |
S eI S gHvEd fohu fomm
QI TREd e T |

(A) (A) &R (R) g W&l & @ (R),
(A) F T& TR E |

(B) (A) 3R (R) 3T T & afep
(R), (A) =l Wel =amer &l & |

(C) (A)T g, Al (R) s € |

(D) (A) 3F &, &ifh (R) TH € |
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20.

21.

22.

23.

3Fgrad &= § Yerdi & fod (9

YT, 1996 % 3TIER 3T et &t

%gmwaﬁwﬁmﬁw%ﬁaaﬁ@aﬁq
?

(i) orglaa &=t & g & fagsyT =
gﬁaﬁ‘aﬁﬁmw%wﬁﬂ%

|

(i) BREHL TR T AW T
T BT € |

(i) oFEfaa &= § fRar o whw
TS % AT RS AT oS O
fw om @ w G9la #)
AT Bl & |

=1 Pz =l TeFaT ¥ TE ST H IS

FHifTT ;

H

(A) e (i)

(B) (i) = (i)

(C) (i) & (iii)

(D) (i), (i) = (iii)

fgdi TRl & AR, ©HE IE
% fau FaeA-es & uRdm qer
STIET0T |97 ST =feq

(A) T HaraT ST

(B) =g fqat= T i

(C) YH™ |Ug i

(D) T~ et i

Tospra WiepRT & FisTT forvmT =i fSter
T afufel ok TeRE e
gfafert = g feretfere 7 3 =few | -

(A) F=5 & T W o fad
BRI BT GIAT

(B) UERdl ®I WRTH WEHER H TH
TN & Y § 1 R I 5T
% {70 T T g&dIaRoT

(C) & Tmed & oA Tar
PRRISE]

(D) UH A & «X G A
PeIRISE)
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24,

25.

26.

Which one of the following is not

included in the Twelveth Schedule of

the Constitution of India ?

(A) Planning for economic and
social development

(B) Water supply

(C) Technical training and
vocational education

(D) Safeguarding the interest of
weaker sections

Assertion (A): Zila Parishad is
vested with planning and
development functions.

Reason (R) : District traditionally
has been recognised as the
administrative unit required to
perform the related functions.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following statements

regarding Budget in India are correct ?

()  The Constitution of India calls
Budget as Annual Financial
Statement.

(i) Budget is statement of estimated
receipts and expenditure of the
Government of India.

(ilf)  The President of India shall lay it
before the House of People.

(iv) The Department of Economic
Affairs of Ministry of Finance
prepare  the  Budget of
Government of India.

Select correct statements by using

codes given below :

Codes :

(A) (i), (it) and (iii)

(B) (i), (ii) and (iv)

(C) (i), (i) and (iv)

(D) (i), (iii) and (iv)
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217.

28.

29.

30.

Which one of the following has not
been associated with PMO ?

(A) Bhuvnesh Chaturvedi

(B) Prithvi Raj Chauhan

(C) Brijesh Mishra

(D) N.R. Pillai

“The Parliament may by law provide
for a Legislative Council in each
state consisting of members elected
by the local Governments’. This
recommendation was made by

(A) B.N. Srikrishna Commission
(B) Venkatachelliah Commission
(C) 2" Administrative Reforms

Commission
(D) Justice Punchhi Commission

Put the following Chairman of

Finance commissions in a sequential

order :

(i) K.C.Pant

(i)  A.M. Khusro

(iii) N.K.P. Salve

(iv) C.Rangrajan

Select the correct answer by using

codes given below :

Codes :

(A) (i) (i) (ii) (iv)

(B) (i) (i) (iii) (iv)

(C) (iv) (iii) (i1) (i)

(D) (@) (ii) (i) (iv)

The responsive public administration

requires :

(i) Institutional safeguards of
technical competence

(if)  Flatter organisation

(i) High calibre  of
personnel

(iv) General standard of efficiency

Select the correct answer from the

codes given below :

Codes :

(A) (i), (i) and (iii)

(B) (i), (ii) and (iv)

(C) (i), (iii) and (iv)

(D) (iii) and (iv)

public
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24,

25.

26.

et & 9 T8 9Ra & Gfagm &t

IRES TG | INHe Tel fohan 7o & 2

(A) =Tfees e gt faem & o
EpiEE)

(B) STergfa

(C) dipt URTETTT TS EdIgs
ToreT

(D) HHSIT ot o f&et ol &l s

Afipe (A) : ©onm oRug | FasE
7 faera & & MHied 63 T E

HRUT (R) . WERTTT €9 9 et
F TEYT AT B G HA
el TRTEE THE % ' H
AT STt @ 8 |

FT

(A) (A) 3R (R) I W&l & &1 (R),
(A) =l el AT |

(B) (A) 3R (R) T T & At
(R), (A) =t Tl =ame =& € |

(C) (A) THE, Al (R) A T |

(D) (A) 3 g, &fh (R) T € |

TRG H o5 & IR H 7 o 7 |

I G FHUT T ¢ ?

(i) YR & Gaue s & A
fercira fereror e & |

(i) I IR WHR & I 3
AT =57 1 foeoT BT ¢ |

(i) YRS & AT T ABE
T T |

(iv) fo d=mem™ &1 o7 Amen @
T TR PR & T9i daR
FATE |

T 53 T P B ST A §F T

T T TIT BT

: T

(A) (i), (i) T (iii)

(B) (i), (i) 7 (iv)

(C) (i), (iir) T4 (iv)

(D) (i), (iii) = (iv)

J-14-13

27.

28.

29.

30.

= 4 4 9 ygeEst wEeE 9
Frafee &l W@ 2

(A) o1 SqeRT

(B) YRS dleH

(C) gt fasm

(D) T3, feers

‘gog, fafy grT o TS B e
M § Faiteaa afamrEl § g9 T
faem aRug =1 weaE = g6t € 1 T'
SO Tohereh gIRT Y TS ot 2

(A) ST, ST AT

(B) deh TeAdT MM

(C) fscir wemafTeh R 3T

(D) =g Bt s

Ty e & F=Aieha 3TedeT i 3Ty
o ahed Hi

() T

(i) T\ gEt

(iii) TEHW. T

(iv) & TR
frfafad wei &1 ST FRa gu @@
TR HT T HINT

Fe !

(A) (i) (i) (i) (iv)

(B) (i) (i) (iii) (iv)

(C) (iv) (iii) (i) (i)

(D) () (i) (i) (iv)

GagRMeT s TR & fow fefetad
H 9 ool STTarvashan gidt & ?

(i)  Tp-eht &THAT o HENe g
(i) Tl T

(iii) Th-HHAT Ht I=T AT

(iv) THEFICA I FHT HHE

1 e & e ¥ el W H A
HIfTT ;

FT

(A) (i), (i) = (iii)

(B) (i), (ii) 7 (iv)

(C) (i), (iii) T2 (iv)

(D) (iii) 7= (iv)
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31.

32.

33.

National Institute  of  Rural

Development was established in

1958. Prior to 1958 it was known as

(A) Central Institute of Planning
and Development

(B) Central institute of study and
Research in  Community
Development

(C) Central Institute of Statistical
Research

(D) Central Institute of Training
and Development

Which of the following statements

about the functions of NABARD is

not correct ?

(A) It prepares annual rural credit
plans for all the districts in the

country.
(B) It undertakes monitoring and
evaluation of projects

refinanced by it.

(C) It promotes research in the fields
of rural banking, agriculture and
rural development.

(D) It functions as a regulatory
authority in relation to all public
sector commercial banks.

Which of the following statements
regarding All India Services are
correct ?

(i) New All India services may be
created only if Council of
States declares to do so by a
majority resolution.

(i)  New All India Services may be
created if it is necessary or
expedient in the national
interest.

(iii) AIll India Services may be
created by a law passed by
Parliament.

(iv) All India Judicial Service may
also be created by Parliament
by law.

Select the correct answer by using

codes given below :

Codes :

(A) (i), (ii) & (iii)

(B) (i), (iii) & (iv)

(©) (), (iii) & (iv)

(D) (i), (i), (iii) & (iv)

Paper-I1
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34. Assertion (A): The

35.

social
responsibility of the judiciary
has now been expanded and the
principle of locus standi given
a liberal interpretation.

Reason (R) : In asocial awakened
ambience, social action groups
are encouraged to approach the
courts and come up with public
interest litigations for
redressing injustice.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

“There shall be a District Council,
constituted in  every district,
representing all rural and urban areas
in the district and exercising powers
and functions in accordance with the
provisions of Article 243 G and 243
W of the Constitution.” Which of the
following has recommended this ?
(A) National Commission for the
review of the working of the
Constitution.
(B) Punchhi Commission
(C) 2" Administrative Reforms
Commission

(D) Rural-Urban Relationship
Committee

J-14-13



31.

32.

33.

LT AT oo GEIE Sl ST

1958 H g€ of 1 1958 & qd T fohey A

Y STHET ST o7 ?

(A) ugeT FLiege 3 T e
TIATHE

(B) dvzet WiegE % wE uws

(D) dvget FLrege oiw T wog
TIATHZ

IS (TT T & T R ) & HAT &

Ty ¥ fefafad § & & q@1 aeaed

T el § 2

(A) T& I F T e & fow
ek SR0T AT ST € |

(B) =@ THH FNWT AR

EiEIEEIE] ? ofEer e

oo AT T |

(C) =& wmvr Sfhm, FW wd o
%ﬁﬂ;%éﬁﬁ@gﬁaﬂﬁm

|

(D) HESIe & & NG Sl &
TRUeT | IE U A MR
% & H H HIAT§ |

afge WRAE  Famet & GEw A

frfefad & & =9 @ oo T2l ¢ ?

(i) T EeT YR Qaret 1 g
et vt foraT ST Gehdl © ST g
H UNUS, TH TgHd TEE O
T, U b ST ol ST Y |

(i) -EF e IRAE st & G

fora ST qeha & AR T AT T

fea o etfa ar TR @ |

UfeEme §RT HEA UIRG W

3TEeT R Haret T g o

ST HebeT & |

HHT TR qIcTaTHe gRT STt

IRA™ =g ol 61 gor foha

ST HAT T |

frfefaa w2t 1 STER wa g T

FE FHT TIT T :

F

(A) (i), (i) e (iii)

B) (i), (iii) 7 (iv)

(C) (i), (iii) e (iv)

(D) (), (i), (iii) 7@ (iv)

(iii)

(iv)

J-14-13
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34.

35.

AT (A) TR H
AT Jife 31d fawaa &t
T & e aTefetd % fagid #
U SRR AT B TS ¢ |

HROT (R) . g w9 9 S
ATATERTT H, QIS HRAE TRl
H I % AR & AR
F AT Ge@eH 3R SHfed
ATFRIE FRR FA & T Fedied
fopan ST € |

E T

(A) (A) &R (R) gHi @&l € @ (R),
(A) =l el AT |

(B) (A) 3R (R) I W & fep
(R), (A) =l Wel =amer &l & |

(C) (A)TH €, Al (R) A € |

(D) (A) & &, wifehT (R) T & |

“Tegeh fSTor | Wk | g, foree e

ford e Wl @R Ui e

TfdmHfee g 3R S Wiow & ST

243 S 3R 243 TIY & WEEE &

IR VIfoRTaAT X HraT H FANT HIA

— 9% GXqfa Hfeted o 9 ot & 2

(A) e HHRH ®R 5 g 3w &
Ak 3T 1S Hieege™

(B) T8t e

(C) Tadia UeTAe GuR ST

(D) A-3RET ReATHRTT o

Paper-I1



36.

37.

38.

39.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List—11
(Commissions) (Chair Persons)
a. 13 Finance i. P.C.Hota
Commission

b. 2 ii. R.S.Sarkaria
Administrative
Reforms
Commission

c. Commission on iii. Vijay Kelkar
Civil  Service
Reform

d. Commission on iv. Veerappa
Centre-State Moiley
Relations

Codes :

a b c d

(A) i iv i i

(B) iii iv i i

(C) ii iv i i

(D) i i iii \Y

The grants made in advance by the
Lok Sabha in respect of estimated
expenditure for a part of any
financial year is called

(A) Token Grant

(B) Supplementary Grant

(C) Vote on Account

(D) Vote of Credit

Which one of the following is not

correct regarding the role of District

officer as collector in the district ?

(A) Distribution of taccavi loans
and their recovery

(B) Assessment of losses to crops
because of natural calamities

(C) Sales of excise shops

(D) Administration of Nazul land

The Post of the Deputy Collector
(non-covenanted Post) was created in
the district under the provision of the
following Act :

(A) The Charter Act of 1843

(B) The Regulating Act of 1773

(C) The Charter Act of 1833

(D) Pitts India Act of 1784

Paper-I1
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40.

41.

42.

43.

Arrange the followings in
chronological order according to
their appointments :

(i) L.M. Singhvi Committee

(if)  Sarkaria Commission

(iii) Hanumantha Rao Committee
(iv) Thungan Committee

Codes :

(A) (i), (i), (iii), (iv)

(B) (), (iii), (ii), (iv)

(C) (i), (iv), (i), (i)

(D) (iii), (i), (i), (iv)

According to the Constitution of

India the Administrative tribunals

can not be established for

(A) Industrial and Labour disputes

(B) Elections to either House of
Parliament

(C) Delimitation of Constituencies

(D) Ceiling on Urban property

‘Interview is a process of social
interaction’. Who said it ?

(A) P.V.Young

(B) M.N. Basu

(C) Goode and Hatt

(D) V.M. Palmer

The various steps in Research
process are given below. Place them
in the ascending order of the stages.
(i) Sampling
(i) Data analysis
(iii) Problem formulation
(iv) Report writing
Select the answer by using the codes
given below :
Codes :
(A) (@), (ii), (iii), (iv)
(B) (iii), (i), (i), (iv)
(€ (i), (iii), (iv), (i)
(D) (@), (iv), (i), (iii)
J-14-13



36.

37.

38.

39.

Tt — | 6t g - 11 ¥ gafed wifse
Tor 63 T F2 H W el W A
= - | = - 1
(3rmar) (reqer)
a. e for 3 i, O g
b. fgda womaHe® GUR ii. IRTE.
ES iR TIHIAT
c. YA A fafae iii. fooma
Hiaw frwm FHABT
d. FEIT T Wiy, RO
3T Argedr

6T

(=N

a b c d
A di v i i
®) Qi v i i
C© i v i i
O i i i v
ol faia o & W % feIw merRletd
T & g § T AU SFEH, S
AR FRT U fopa e €, 39
H ¥ 1 e A § 2
(A) TR FRH
(B) T FH
(C) rErEH
(D) ¥FIIsH
Tt o Rt SRl @l et & w9
qehT & Ty § FEfeied § 9 @i
T U Wel Tl ¢ ?
(A) TFBET 0T B FTAROT T IR

et

(B) T SRS & HRUT HHAl i
g T 3o

(C) STURH ook H5l Fl [a5hd

(D) STer 9fH =T SRIE

fafefaa o 9 g efutam & e
% aid et § Su-femden & uw
(STETIRTEE U) T oI [T T &7 ?
(A) 139X tae 3w 1843

(B) g Weifem tae 3w 1773

(C) 15 =X Uae 37w 1833

(D) TueH =fean Uae 31w 1784

J-14-13
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40.

41.

42.

43.

fefad 1 S e %E A= &

(i) TRIET 3T
(iii)
(iv)
FHE
(A) (i), (i), (iii), (iv)
(B) (), (iii), (ii), (iv)
(C) (i), (iv), (iii), (i)
(D) (i), (i), (i), (iv)

YRA % WEgH & AR F= ° ¥
fopaer foro wemafes —matereRor wnfud
T TR ST Tt 2

(A) 3infiTes IR i e

(B) ¥HR % fohdl e & foiw Farem
(C) Taram &= 1 uREv=

(D) -RIF T 9 G

‘TP THINSTeR 3= fhaTell &l U
kAT € 1” I8 fhee el ?

(A) drar =@

(B) UwHTEA 99

(C) Tewder

(D) drTH. TR

MY UHAT % A= =R S fju e
£ | 37 TR B ARG HH § Fand
HifT

(i) wfdea=

(ii) et favemor

(i) T e

(iv) wfeRe e

e f3T T Ft BT ST B TE ST
T TTT BT ;

B

(A) (), (i), (iii), (iv)

(B) (iii), (i), (ii), (iv)

(C) (i), (iii), (iv), (i)

(D) (i), (iv), (ii), (iii)
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44,

45.

46.

47.

Which one of the following does not

refer to practical orientation of

research ?

(A) Basic Research

(B) Action Oriented Research

(C) Practice Oriented Research

(D) AIll of the above refer to
practical uses

“N.G.O. is a private enterprise for
social progress.” This statement is
made by

(A) Lord Bryce

(B) Pt. Jawaharlal Nehru

(C) Lord Beveridge

(D) A.P.J. Abdul Kalam

Which is not the basis of Public

Sector Reform ?

(A) Inefficiency

(B) Unprofitability

(C) Lack of Competitiveness

(D) Significance of spill
effects

over

Which of the following are the

impact of global economic

integration on sovereign states ?

(i) Interdependency of Trade

(it)  Interdependency of
development  policies and
programmes and their impact
on economy, employment etc.

(iii) Impact of global governance
dynamics on the local policies
and reform.

(iv) Conductive environment for
both the capital and the labour
at the local level under the
aegis of global economic
integration.

Select the answer using the codes

given below :

Codes :

(A) () (i) (i) (B) (i) (i) (iv)

© (@a)av) (@) @ 3 (i) (iv)

48.

49,

50.

Foreign Exchange Management Act
(FEMA) by replacing Foreign
Exchange Regulation Act (FERA)
was introduced in the year ?

(A) 1999
(B) 2000
(C) 2001
(D) 2009

Which of the following is/are the

most common method of

privatisation ?

(i)  Sale to outside owners

(if)  Restitution

(iii) Spontaneous Privatisation

(iv) Management-employees
buyout

Select the correct answer from the
codes given below :

Codes :

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (i), (i), (iii) and (iv)
(D) (iv) only

Which of the following is not the
function of Competition Commission
of India ?

(A) To consider and approve all the
cases of mergers, acquisition
beyond a certain value.

(B) To promote the -culture of
competition in Indian market.

(C) To conduct in-house market
research and sectoral research

(D) To suggest reform in the
organisation and functioning of
RBI and other banks.
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44,

45.

46.

47.

e & @ &= @, w9 &

ARG Affo=rg o gefd T8l

ETG NG

(A) Tt Iy

(B) fra=ra vy

(C) =TRR-3@ MY

(D) W= & =EERE ST i
G & &

“TASTSN, g W % felr ue
ol STm € 17 9% fhue e € 2

(A) S "

(B) . STARITA Hg&E

(C) dire AT

(D) THS. FA HoH

=1 5 @ 1 @k e & % guR @
3R &l & ?

(A)  APITeAT

(B) SToIMETISAT

(C) wfeNfiTar AreT Bt HH

(D) ATATE T H T

frefefad & @ 9 ¥ o EeS
TG T Af¥aeh 2Tk Uehiehiol o YTe
! ST e & 2

(i) IR RER-FedRar

(i) foerg Hfaai den ®EHE @
WO FRar aar eriegeRE,
ST eSO ST 1S
T A R guReEr W
AfYerer SIRITE TTideh! T T
Afyas  oNfIh  UmIT &
TEEY & AT T T T
Ot qg o9 g % [T 3T
CIRICR)

T ST T FE 1 ST F FE I
T TIT HIT

T

(A) () (i) (iii)

(B) (i) (iii) (iv)

(©) () (i) (iv)

(D) () (i) (iii) (iv)

(iii)
(iv)

48.

49,

50.

faeett gu1 fafames sttuf=m (@) =
faenfra #=d gu fosst qE1 e
attufTa (%) fFg ad oy femar T 2
(A) 1999

(B) 2000

(C) 2001

(D) 2009

= o ¥ &= A1 Feieor w1 gaias
I TRIHT & 2

(i) amer @t 5

(i) e

(iii) e st

(iv) Ueesh-sHIHe qul-563

1 e = TEmEd ¥ el W H A
FHITTT

FT

(A) ()= (ii)

(B) (i), (ii) T (i)

(€) (i), (i), (iii) T (iv)

(D) e (iv)

fefafeg @ 9 &9 @ &8 9% &

iR ST T T8l & ?

(A) Traia | @ et gogaret
TooTam aer 3tfuwreoT & Wl A
W fgem & qun 3% ik
FET |

(B) WRAT SR H Wiemel ot Geapia
I TFTET ST |

(C) 33 IR oY e &= I =t
T BT |

(D) SIREN.3TE qAT 3T bl & TGS
Td FETSHA H GUR H gId
T

J-14-13
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